Potencias de 10

(G)

8.4013 =107

5.9087 = 10?

2.1959 = 102

2.7804 107

6.6759 = 102

8.9153 107

8.9778 ~ 102

6.5021 = 102

7.3196 + 107

5.7394 = 10?

Calcule los siguientes cocientes.

6.3924 = 10°

1.933 +10°

3.6446 + 107

4.9446 107

6.9996 = 102

7.9445 +10?

4.3658 + 107

4.7813 = 10?

2.563 +10?

9.2265 +10?
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Potencias de 10 (G) Respuestas

8.4013 + 102
0.084013
5.9087 = 10?
0.059087
2.1959 + 10?
0.021959
2.7804 + 107
0.027804
6.6759 + 10°
0.066759
8.9153 = 10?
0.089153
8.9778 + 102
0.089778
6.5021 = 10°
0.065021
7.3196 + 102
0.073196
5.7394 = 10?
0.057394

Calcule los siguientes cocientes.

6.3924 +~ 10?
0.063924
1.933 = 10?
0.01933
3.6446 <+ 10?
0.036446
4.9446 + 102
0.049446
6.9996 + 10°
0.069996
7.9445 +10?
0.079445
4.3658 = 10?
0.043658
4.7813 + 10?
0.047813
2.563 + 107
0.02563
9.2265 + 10?
0.092265
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